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Answer the Questions from any one Option.
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OPTION-B
Paper : CSC-HG-3026 \ N
( Computer Network and Internet ~[ . .
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The figures in the margin indicate
full marks for the questions.
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(d)

Write a program to generate Fibonacci
series.

(e) Write a program to find GCD of two
numbers.

( Write a program to perform linear and
binary search on a list.

1. Answer the following questions :

( Computer Network and Interne

OPTION-B

Paper : CSC-HG-3026

Technologies )

Answer either in English or in Assamese.

1x7=7

oo M oMty Tl el e

(@)

(b)

()

(d)

(e)
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WWW stands for __ .

WWW IS ga |

What is client-server network ?
Client-server (63 e 2

What is web server?

‘Web server Wi ¢

Mention the names of different types of
lists used in HTML.

HTML © J7Ze [{feq list RIS w9 S
9

TCP/IP model has
layers.

TCP/IPS ____

numbers of

T TE AU |
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( What is extranet?
extranet M &2
(g What is M-commerce ?
M-commerce W &2
Answer the following questions :  2x4=8
o 2R Tes fam ¢
(@) What is cascading style sheet?
Cascading style sheet Wi &2
(b) What is FTP?
~ FTP ¥ e
(c) What is switch and router?
Switch % router 153
(@) What is URL?
URL W &2
Answer any three from the following
questions : 5x3=15
oo [zt forn! enprd BT faat ¢
(a) Write about different types of computer
networks.

Aftn (e FPATOR o e ol
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(b)) Write about different data types
available in JavaScript. :

JavaScript © &ve@ Rfeq data type I
R

(c) ‘Write ‘about synchronous and
asynchronous data transmlssmn

a Synchronous W asynchrounous it
pefew Rew fratl

'(d); Wnte about co- -axial cable and optlcal-
"~ fibre cable:

- Co-axial cable “51133 optlcal-ﬁber cable ¥
. R ot S

(e) Write about different components of a
data communication system.

'Wﬁmﬂﬁﬁ%mﬁﬁﬁm
R

4, Answer any. three questlons from the

following : 10x3=30
1S S < Rzt o 2 BT fam 2

(a) Briefly explain about OSI reference
. model.

0SI reference model I R fwll
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(b) Briefly explain about different types of
LAN topologies.

=fon LAN topologies 3 Rt 7t =i

(c) Write a JavaScript program to check
whether an input number is prime or
not.

51 input WA CGNERE T @ 72 O SR
@Bt JavaScript program &l

(d) What is search engine? How does
search engine work ? Briefly explain the
component of a search engine.

Search engine ¥t f&? Search engine @
(FCALF I B2 Search engine I SR*FRRS
e foval|

(e) Write about different HTML tags used

to display data in tablular form. Write
an example to create a table using
HTML tags.

SISI@EA tabular form © (AR IR =

HTML Tag 7923 R¥c il HTML Tag
Tz 921 T table G4 TR S |

() Briefly explain the elements used to
create a HTML form. Also create a HTML
form to show the use of the elements
by creating the following informations :
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HTML form <FMETe IR T fafen

AR e forall | F1oiCe oS Al ST

22l FR HTML form 3 SAMFPRRS SIEEG

@myed ¢ :

(i) Name :

(ii) Roll no :

(iii) Class : 1st Sem/2nd Sem/3rd
Sem/4th Sem

(iv) Course : Computer Science
(v) Gender : Male/Female

(vi) Address : |

(vii) Year :

(viii) Reset /submit buttom
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OPTION-C
Paper: CSC-HG-SOSG/CSC—RC—SO16/TCA—HG—3016
' (Operating Systems )
Answer either in English or in Assamese.

1. Answer the following qilestions as directed :

1x7=7
(@ - isthe system ca_u to create a
. _‘ new process in POSIX
(Fill in the blank)
POSIX-$ 794 &5 ana R
system call =3t | (T j?? A9 7))

(b) ________is a POSIX system call to send

a signal to a process.
(Fill in the blank)

POSIX®_____ system call¥ 52TS &tp

Wﬁﬂwvﬁmﬁﬁl
X (3T HZ 279 )

() Each process has its own address
space. (State true or false)

ATOiF A9 Aot address space AT |
» (% G ao% [@3)

(d) All the threads in a proceés share a

common address space.
(State true or false)
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@

&0l ATDHI TG thready Kol address

space IR IR (oF o ST W)

.Shortest-job-first scheduling is

primarily used for interactive systems.
(State true or false)

© Interactive system' ‘F{I97S shortest-
Job first schedulmg W A1

(@ﬁ & T [a3))

Sometimes segmentatlon and paging
are combihed to provide a two-

L dlmensmnal vn'tua_l memory.

(State true or false)

fOTRI segmentation OIF paging ARG

IR two-dimensional virtual- ‘memory v«
= = | (o7 @ g )

Grep is a pattern matching utility.
(State true or false)
Grep <ol pattern matching utility =1
(8% 7 Jo7 &)

Answer the following questions : 2x4=8
weTe il TR O ol ¢

(a)

What are the two main functions of an
operating system?

B! GAIETH: Bovw 75 - eum = & o
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(b) What is the difference between
timesharing and multiprogramming
systems ?

Timesharing. 9% multiprogramming
~ system3 AR F?

(c) What is the difference between a

physical address and a virtual address ?

Physical address 9 virtual address¥
eI /e

(d) What is the difference between
preemptive and non-preemptive

scheduling ?

Preemptive € non-preemptive

schedulingd “NRIRR &2
Answer any three of the following
questions : 5x3=15
Rt fofabr 2 Baa ot ¢

(a) What are the different types of operating
system ? Give brief introduction of each.

RS eied SNET: BroTrR & 2 aAfeR
53 oIf5x Al

(b) What are the design goals in building
an operating system ?

wpelicafse b ARl srFER & e
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(c) What is process hierarchy ? Explain.
ey S 2 I )

(d) What is shell ? Write the syntax of loops
used in shell script.
Shell f#? Shell script® IR (A
loop (AINY syntax G

() What kind of hardware support is

 needed for a paged virtual memory to
work ? .
Paged virtual memory JRFFw IR &
P YGSIT AT T2

Answer any three of the following
questions : _ 10x3=30
Rtz folbr 21 Bes ol
(a) Define process and thread. What is the
advantage of implementing threads in
user space ? What is the disadvantage ?
— _ 2+2+3+3=10
Process I% thread3 7@l &A1 User

space ' thread I T T JRUAT 2
SPIRYIAIT e

(b) Briefly explain any two non-preemptive
scheduling algorithm.

Ricrea w51 non-preemptive scheduling
algorithm I 11
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(c)

(@)

(e)

Write a shell script to accept a login
name. If not a valid login name display
message—“Invalid login name”.

Login name &2 $F 9ol shell script
1l | Login name (34 792 “Invalid login
name” S A<q T |

Write a shell script to merge the

contents of three files, sort the contents
and then display them page by page.

o5l TieR B2 FAE F(RCsT 96l shell
scriptmwm‘j’sﬂﬁﬁ‘ﬁﬁﬂ
Briefly explain memory allocation
strategies. :
Memory allocation TR A 0 |
Explain the difference between
internal fragmentation and external
fragmentation. Which one occurs in
paging system ?

Internal fragmentation W external
fragmentation< ofj2f@aIa 391 T4 | Paging
system® (IOl 22 :
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1.
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OPTION-D

Paper © CcSC-HG-3046/TIT-RC-3016

(ITC Hardware)

Answer either in English or in Assamese.

Answer the following questions as directed :

Wﬁmmﬁﬁﬁz@mﬁwms

(@)

(b)

1x7=7

What is Software ?
5ToCd (2

Which of the following is not an input
device ?

(i) VDU i

(Il} Keyboar d ". \;/, £ \"—_“.’;-"«‘.‘ =\

\S S /_;,- L
\ &

v (HOWHY
§ W

i

(iij) Monitor
(iv) Light Pen
(Choose the correct option)

ol @R b freiRn W=

) fefeze
() RS
() eI
@) (e T (@7 Gev! AR Tfred)
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()

(@)

(e)

(9)

- is a

The is the ‘brain’ of every

microcomputer. (Fill in the blank)

_ el eIt |
(T SZRA 779 )

Full form of USB is X

(Fill in the blank)
|
(T SR of7et )

The most frequently used input device
(Fill in the blank)

AT S 2=l fOeienio! T <l |
(T S1ZRA 77 7))

What is IP address?
IP address &?

USB I o «ii 24

A computer that provides services to
other computer programs in the same
computer or other computer is a server.

(State whether true or false)

(aeﬁﬁaﬁ%wﬁmaznvmuaﬁ*ﬁ@masvmvaﬁﬁﬁﬁﬁa

znaaﬂqi$(?@1ﬁmaiﬁﬁiaﬁ%wﬁﬁﬁwﬂﬁsﬁﬁal
(ot at fig o)
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..
2

2.
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Answer the following questions .

. were A e el faa e

(a)

(b)

(c)

(@)

2x4=8

What is the difference between
hardware and software ?.

QER T B e AL e

Write the function of Operating System.

weiiaios Hrss RG Fr

What are storage devices ?

s g e

List any four firewire features.

é::?zws#%W“wnw«nmazaﬁﬁnﬁma¢ﬁ5@=ﬁ3
| : -

Answer any three of the following

questions :

5x3=15

Wﬁmﬁmﬁfﬁﬁﬁmwms

(@

(b)

What are the advan_t.ages*vof LCD
monitor over CRT monitor ?

1Evm§ﬁ?ﬂﬁﬁ$a§FFWs~¢ﬁi§ﬁ§=ﬁﬁmara3m
& e -
Wrife down the steps for installing

additional HDD.
fefie HDD FEA TR IAE Peauretanl
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(c) Briefly explain the different types of
RAM.

ﬁ%ﬁwﬁmﬁﬁmmqﬁﬁﬁml

(d) What is BIOS and what are its
functional parts?

BIOS & =ii% 3R Fiw i &6 6 e

(e) What do you mean by bus slots ?

A 7o e

4. Answer any three of the following
questions : 10x3=30

oo Tl Rzt foft e Ted fra ¢ p

(a) Explain the logical structure and file /k
system of hard disk drive.
26 o gized Aeeal A TIE
FisigeerE Il

(b) Write brief description about sockets,
slots, power connectors, peripheral

connectors, bus slots and USB.

5735, 25, 2K AR, CoAReret AR,
3z 76 OIF 209 KA 53 fgael ol |
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()

(d)

(e)
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What are the basic elements of a
computer system ? Explain.

F>ITHR IER T SoAmeER & e
41|

“Fourth generation of computers is
better than third. generation.” Justify
this statement.

“ooN elerers Sed ATIT FIEACHR o I”
2 T WO A IS FAA

Discuss the working DOT-MATRIX
printers.

<15 391 DOT-MATRIX oz R
SCEAe 1 |

Write short notes on any two of the
following :

s e W 8oFe b (I et ¢
() Virtual memory

(ii) Cache memory

(iii) Bufer |

(iv) Motherboard é"", : |

(F) OREE GEE | \ T

@ @R N

700



